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uksV& lHkh iz'u gy dhft;sA
Attempt all questions.

[k.M (v)

Section A

1. fuEu caVu ds fy;s ekf/;dk Kkr djksμ 13/16

vk;q (o"kks± esas) 11–15 16–20 21–25 26–30 31–35 36–40

O;fDr;ksa dh la[;k     3     5     6     9   10     7

Calculate median for the following frequency distribution—

Age (in years) 11–15 16–20 21–25 26–30 31–35 36–40

No. of person     3     5     6     9   10     7

2. ,d caVu ftlessa eku 1, 2, 3, ..... n gS rFkk izR;sd dh ckjEckjrk 1 gS] ds fy;s ek/; izlj.k vkSj

ekud fopyu Kkr dhft;sA  13/17

Find the mean variance and standard deviation for the distribution in which

the values are 1, 2, 3,........... n and the frequency of each is unity.

3. f}in caVu Kkr dhft;s ftlds fy;s ek/; 4 gS rFkk izlj.k 3 vkSj bldk cgqyd Kkr dhft;sA

14/17

Determine the Binomial distribution for which the mean is 4 and variance is
3 and find its mode.

P.T.O.



[k.M (c)
Section B

4. izkf;drk dk xq.ku fu;e fy[kks rFkk flº djksA 13/16
State and prove multiplicative law of probability.

5. flº djks fdμ 13/17
                                   E (X + Y) = E (X) + E (Y)
Show that—
                                   E (X + Y) = E (X) + E (Y)

6. flº djks fd Ioklksa caVu] f}in caVu dk lhekUr :i gSA 14/17
Show that Poisson distribution is limiting form of Binomial distribution.
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